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No. of Questions/oy=i £t v : 180

Time : 2 Howrs Fudll Marks : 450
A ;29 (9o : 450
Instruction :

e -

Note :

This paper consists of Objective Type Questions and is divided into Two
Sections (T & IT) as under :

a8 Y7~ agfaedta T W smaE # aw St (1& 1), S afif
ﬁ, o faws & -

la} Section-1 : Consists of 120 Objective Type Questions on General
Awareness, Mental Ability, Comprehension and Subject Awareness i
some major subjects,

BVs-1 ;3 120 afredn e ww e, TR e o s
Rt 3 1 e e # | |

(b) Section-I1 : Consists of 30 Objective Type Questions on (Y) English

ﬁlﬁ:ﬁmﬂ'{ﬁm A (1) 30t e oM (T feety o 5w
|

The candidate is required to atiempt as many questions as he/she can of
Section-1, and Questions on ANY ONE of the TWO Language papers
(T) English OR (IT) Hindi in Section-IL.

avadi A wiiEm 2 B mve-1 ¥ sl ye ae W11 &% (T =
ﬂﬂ%ﬁﬂﬂmmﬁﬂﬁ!ﬂﬁﬂmﬁinﬁﬁmﬁl s

(f) Each question carries 3 (three) marks, Dlemnrlmﬂlb{-d teted
each incorrect answer, Zep, mark will ol for
m. (@) i ; hﬂmh“h”‘mﬁ"‘mﬂ

A1 cafeol ML :
ey | S S S e A l‘m%ﬂ:@"'ﬂ'wﬁ‘E""'E'“W'?I

|
(1) (Turn Gver)
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(if) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one,

af v Twfeas T whl I & Teee i A, A Feem aw Iw
€|

(fif)Each question is followed by Four altcrnative answers (1), (2), (3) and
(4). One of these answers 15 correct. Select the correct and record 1t

against the relevant question in the ANSWER-SHEET by darkening the
circle with Ball Point Pen as per guidelines.

Ui W AW deices I gqFE T § B (1), @25 @) T (4) Tl
& oyt T B | g A e v S E R R | | e R e T deha
41 Tt 1 A Y o a P 3R g (e} e

wATewz T ZRT I Hh T |

SECTION-1
muE-1
1. Dzone depletion takes place in which layer of atmosphere ?

(1) Mesosphere (2) Stratosphere (3} Troposphere (4) Thermosphere

AT mwﬁﬂ%ﬁmmﬁﬁmt ?
(1) HEqaTSH (2) BRATTAYET (3) EnvEeE (4) THHUES

5 What does mainly induce global warming ?
(! }‘-'rull:anit: eruplions (2) Insolation

{3) Plates collision {4) Human activities

ng@ﬁ:ﬁmﬁmmﬁmﬁ?

(1) saremgel T (2) F
(3) e T (4) 9 e
{{}eruw:h

(2)
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3. Coliform count is associated with which of the following ?
(1) Bacteria (2) Virus (3) Fungi (4) Worm
HIIRIH T Y el § & R 2 7
(1) famy (2) oy (3) %= (4) oM

4. Whichisnota primary air pollutant 7
(1) Carbon dioxide (2) Nitricacid  (3) Sulphur oxide (4) Hydrocarhon
Fifesfiad 4 $ mafie any e A # 7
(1)HH3 SHATRE (2) Bwommr (3) wreeme sibwamee (4) Eggieri

5. Which of the following is not the consequence ol temperature rise ¢
(1) Ice cap melting (2) Sea level rise
(3) Increase in agricultural production (4 Hﬂbitateimngc
Fetiriers % & 9 @ o o 1 <o 4 3 7
(1) P rem (2) 99 75 3eum
(3) FF S A gt (4) am afiada

6. Where does the thermal pollution initially take place 7

(1) Ocean (2) Sea (3} River 4) Pong
6

(3)
{Turn ﬂpﬂ}
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m“@mﬁmmﬂmaﬂg?
k) BRI (2) &R (3) 78 (4) AT

T-I- i i i
When did Indlm enter into the second stage of demographic transition 7
mﬁmwﬁ@ﬂmﬁwﬁﬁmm 7

]
(1) 1901 (2) 1911 (3) 1921 (4) 1931

(1) Yemen (2} Bangladesh (3) Somalia (4) Liberia
ﬁ@tﬂﬁmmm'ﬁmﬁmﬁﬁﬂ?
(2) ey (3) "o (4) =i

(1) F9A

g, In which continert the HIV/AIDS epidemics has pmhcdupd&ath rates?

(1) Africa (2) gouth America (3) Oceania (4) Morth America

ﬁﬁﬁnaﬂ“ﬁtcﬂ.ﬂfﬁﬁu.h:{ﬂmrﬂﬁﬁ:ﬂﬁamﬂﬁg ?

(1) S (2 afigoft i (3) AfufE (4 Fwft i

{0, Which grate ©Of india recorded highest decadal growth of population during
mm-znn 7

(1) Kerald (2) Goa (3) Meghalaya (4) Arunachal Pradesh

( Conrireeed)

(4)
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2001-2001 & @ wie & form v 3 avdn = weEen i = e
(1) F= (2) wan (3) HEreE (4) FTETEH WEw

11.Cocoa, a basic ingredient in modern confectionary, is obtained from a tree of
which region ?

(1) Temperate (2} Tropical (3) Mediterranean  (4) Sub-polar
i, s fipe o ek HER Hoew, B dm S s qm d ymEm
(1) s (2) vmefeedia (3) ymemEn (4) 39-gd

12.Térra roxa soil of Brazil is the best for which of the following 7

(I} Tea (2) Colfee (3} Cocoa (4) Sugarcane
drdflel #1 &0-Tra fagt ferfefien & & fom & R oafan 2 7
(1) 9@ (2) & (3) et (4) M

13. Which of the following is not a maize type 7

(1) Dent (2) Pop (3) Waxy ()
Fferfiad 8 @ R w1 gEw o d
(1] &= (2) 99 (3) &=t (4) Fim
14.Mark the odd out of the followjng -
Coco :
(1) Dates P (4) Banang

(5)

Turn Over,
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Frerfisfian & & ¥ i -
(1) = (2) T (3) ¥
15. Which of the following is highly rich in gluten ?
(1) Rice {2} Tapioca (3) Comn
Freaforitan & & S a1 oA wor B 2 7
(1) =& (2) =i (3) we!

16.Nebular hypothesis was proposed by whom?

(1} Laplace (2) Halley (3} Encke

Eﬁ:ﬁmﬂwﬁaﬂmﬁnﬁm?

(1) FmeTE (2) & (3) I

17. Which of the following pair of planets have no satellite ?

(1) Venus & Mercury (2) Venus & Earth
mmmur:f&wim (4) Mars & Venus
mﬁmuﬁ%ﬁﬁﬁ@mﬁﬂmaﬁ?

(1)7p @ 3 (2) 6 el
3y g0 A (4) WA W T

(6)

(4) %N

{4y Wheat

(4) 1§

(4) Gaul

(4) T

{Continued)
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18.1f the carth's equatorial radius is 6378.137 km, which of the following has
lesser radius than it ?

(1) Venus (2) Neptune (3) Uranus {4) Satum
Tt gt 1t s 6378.137 Fl 2, Favafinfian 9 & Pl oo gedh % w7
(1) P& (2) T (3) 3w (4) of

19. When is our earth nearest to the sun ?
(1) SrdJanuary  (2) 14thJanuary  (3) 4th July (4) 14th June
sl %4 g & wi B R
() 3 satt A(2) 14 Fah (3) 4 wewd (4) 147

20.Ganymede is a satellite of which planet 7

(1) Jupiter (2) Neptune (3) Mercury (4) Satum
TN To60 % 1 R B 2
(1) Frefa (2) =Em (3) 99 {4) uf

Z1. Albedo of the earth has o do with what ?

(1} Radiation (2) Diffusion (3) Dispersion

(4) Reflectiyp
el % ") ey fm g o
(1) fafm (2) Fomrm (3) St (8) sty
{7)
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12.Patiern of wind in a cyclone in northem hemisphere IS

(1} Clockwise (2) Anti-clockwise

(1) Both of the above (4) Unclear

wertt it & wppardr w6 R ad 2

(1) g i gd o fem o (2) 1 %  fean & fia
(3) Tutr A (4) P

23, Willey-willies are tropical storms of

(1) Australia (2} Brazil (3) China | (4) Canadea

ﬁ?’ﬁ-_ﬁ?ﬁﬁ?ﬁﬁfﬂﬁﬂamﬁfﬁ!iﬂ-ﬁﬂ@ﬂ% ?

(1) swgfem (2) wrirE (3) i (4) T
24. Tomnadoes generally occur in:
1) High Iatitudes {2) Low latitdes
3) Middle latitudes (4) Allof the above

(2) = AT
(&) 390 W

{{_'fm.rz'.riut‘ﬂ':'

(&)
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25.The traditional Indian season known as 'Shishir’ falls in which month 7
(1) October-November (2) November-December
(3) December-January (4) January-February
T wRedr e B R ol e g
(1} Ferm - (2) TV - femman
(3) feman-waah) (4) FFah-Fraft
26, What is the raw material of muslin 7
(1) Wool (2) Cotton (3) Silk (4) Jate
FETeT I W] Hie o g d 7
(1) = (2) % (3) tm 6%
27. Where is Monazite sand mainly found in India 2
(1) Kerala coast (2) Chotanagpur plateay
(3) Gangetic delta (4) Thar desert

I ¥ §Aa: W TR e v g

(1) ¥ e (2) BRAMR TR
(3) 7 3F (4) wm Yfrer
(%)

(Taurn Cher)
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28.lodine, gelatine and fertilizers production use which common raw material ?
(1) Guano (2) Fish (3) Reel (4) Seaweed
Mﬁﬁlﬁl&ﬁwﬁu&ﬁ%mﬁqﬁﬁmﬁﬂmﬂwﬂmﬁﬁmmi 7
(1) e (2) W (3) (4) T fre

29.Coking coal is a variety of which of the following ¥

(1) Anthracite  (2) Bituminous  (3) Lignite (4) Peat
it e Frfufigs 1 fee v # 7
(1) whEe (2) Faeafirr (3) femmee (4) e
30, What is the source of Fropane’ gas ?
(1) Petroleum (2) Coal (3) Biomass (4) Water

‘i e w7

(1) Geifem (2) e (3) ariteig (4) 5=

2,400 each gaining 20% onone setand lossing

31.1Fa dealer gold two 1.V, 5€15 for Rs. ainin one se
4% on other S€t, then loss or gain percentage in this transaction is :
(1) 4% loss (2) 4% gain (3) 2% gain (4) 2% loss

(10} (Continuea)
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% i G 21 A1, e ik 9 2,400 %, 5 e | o v 2 R 20% O
T T W 20% K ot @t 8, A @ = § @ pw aw oa of e § w
P

() wf 4% (2) =¥ 4% GaM2% @) k%

31.Rohan's mother is 26 years older than him. If the product of their ages 3 vears
from nuwwiﬂbe]ﬁﬂ.thmlh:lhhmprescmag; i5 :

(1) 7 years (2) 9 years (3) 10 years (4) 13 years

TER % oen <6 3w 3 26 99 i 2 | s & B 3 ad g ST A ey o
360 34 &, i g i adwm g 2 -

(1) 7 (2) 9af (3) 10 &9 (4) 13 af

33.300 apples are distributed equally among a certain number of students, Had there
been 10 more students, each would have received one apple less, then number of
students is :

Fffrm e & ol 7 300 A9 B wowarsn 2 ) 96 10 w0 it 1 @t v o
U W T W B | BT i Fifre wem a7

(1) 60 (2) 30 (3) 45 (4) 55

34.50han save 14% of his salary while George save 22%. Ifhoth get the same salary

and George save Rs. 1,540, then saving of Sohan is :
A5 A A = 14%mm%aaﬁmimﬁﬁmwﬂ%m
#

2 9 3 T e ) 016405, R gy

T
(1) 9003, (2) 10007, (3) %50 =, (4) 93y "

(1l J (Turn D‘I.'erj
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35.The Si.t'lrl.p]l: initerest on a certain sum of money for 3 years is Rs. 705 and com-
pound interest on the same sum of money hence at the samc rate for 2 years is

Rs. 153, The rate of interest on the sum of money is :
Mﬁ%ﬂmﬁlmmﬂmﬂmﬂﬁ3ﬁmmnﬁmﬁmﬁrmﬁ1m

%ﬂmaﬂiﬂﬂﬂﬂﬁﬁﬂﬁ 153 57 3 @ 30 el 9 sEL SR A

(1} 1% (2) 2% (3) 3 (4) 4%

36.1ftriangle ABC is aright angle at B, given thal AB=9cm, AC=15cmand D, Eare

mid points of AB and AC respectively, then ared of triangle ADE is

1 27
(1) A0 cm? (2) 54 em? (3) 27 em? (4) - o

2% ABC P 1 B wwww & | AB=9 8, AC=15 A, 71 D3 EFA:
AD e AC % v Fa 8, 7t Bgw ADE® EAwe B

-
(1) 60 &1t (2) 5482 (3) 27 47 (4) 32- R

37.A train travels a distance of 300 kmata constant speed. If the speed of traift 15
inercased by 5 kman howr, the journey would have taken 2 hours less. The original
speed of train is :

(2) 30 km/hr (3) 25 km/hr (4) 20 km/hr

et 300 fea, A qmmnnﬁrﬁaﬂmm%mﬁi?mﬁlwﬁiﬁm.
i "ﬁmﬁmqgﬁﬁmwﬁilmﬂmﬁﬁmt:

{1y 35 km/hr

1y 33fefg@ (2 30 padia @) 2sfAE () 20FHA
18.Seven years ago Varun's age was five times the square of Swati age. Three years
Ih ence Swall 38 will be two fifth of Varun's age. The Qwati presentage s :

(1) §years (1) 1 years (1) 6 years (1) O years

(Contirmed)

{11}
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A o g v 3R T 8 I & ol 5 A | Al @ w6 I e
#Eﬂﬂﬁwm.ﬁmﬁﬂﬁﬁﬁlﬂlt
(1) Bad (2) 2 uf (3) 6ad (4o
39.4 takes 6 days less than the time taken by B to finish a piece of work. If 4 and B

together can finish it in 4 days, then the time taken by 4 alone to finish the work
15:

(1) 6days (2) 12 days (3) Bdays (4) 10 days

A ol & ) BR 6 B oo v i g i 2 ) 3 4 o B R o @
#Eﬁmmﬁ!’,ﬁmﬁﬂﬁmﬁmﬁwaﬂﬁﬂmmm;

(1) 6fm (2} 12Ra- (3) 8fes (4) 10 fs

40.The mcan weight of class of 35 students is 45 kg, If the weight of teacher be
included the mean weight increased by 500 gm. The weight of teacher is -

(1) 60kg | (2) 6l kg (3) 62kg (4) 63 kg

T & % 35 913 91 e ww 45 e, 4 | 1% G S 1 %R sl
T 3itea W sﬂﬂmqﬁmﬂ-mtlmmmh o

(1) 60 fisam, 12) 6l fean, (3) 62 fs m, (4) 63 f.m
41.Two di rolled ili
f;zs i:':l: are simultaneously. The probability that they show different

g}mﬂﬁmmﬁimﬁ%aﬁmmmﬁﬁmi,

i 5
W 2 @ 2 OF @]
(i

(13
J !Tﬂﬂp Dl-'t‘rj
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42.1n a class of 60 students 30 opted for NCC, 32 opted for NSS and 24 opted for
hath NCC and NSS. 1 one of these students is selected at random, the probability
af the student has opted NSS but not NCC is
o 4 3 60 @H B 3014 NCC fer, 32 971 1 NSS 791 24 871 4 NCC o
NSS 277 forn % | R Ao w9 B wh o g fm i & A 36 9 v
At NS ferr # fieg NCC =t '

’ 2 1 2
M 5 G ik @

43.A man repays a loan of Rs. 3,250 by paying Rs. 20 in the first month and then
increases the payment by Rs. 15 every month. The time taken by him to clear the

loan is
(1) 20 months (2) 16 months (3) 18 months (4) 22 months

s st S 3,250 %, % T ) 3 A P fore, e R & 20 %, o S e
W § 15 %, gt wek o o & | e G0 R T WA A 5 A
L

(1) 20 7@ (2y 16 TEAT (3) 18 TEHI (4) 22 7

44.If a cone is cutinto two parts by a horizontal plane passing through _Ihe: mid-poin!
ofits axis. The satio of the volumes of the upper part and the cone s :

ﬁm#m%mwm Syt e S i W w12

ﬁfmﬁfjﬁﬁﬁimﬁmm@#mﬁmﬂmg:
(H 12 (2) 14 | (3) 1:6 (4) 1:8
45, The arteries which supply blood to heart is :
(1) Putmondry arteries (2) Hepatic arteries
{3) Coronary arteries (4) Carotid arteries
(Continued)

(14)
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vt ot g2a = ) off e 2
(1) Fopm wmfi (2) aga wwfd
(3) s umial (4) st umfa

46. The Ozone layer (0,) in the earth atmosphere :
{1) Cause less entrance of ultra violet radiance
(2) Control the level of oxygen
(3) Convert CO into CO,

(4) Responsible for the air pollution

9ot & FRves # IuferE AW @ (0) -
(1) el foren & vam St wm wm §
(2) Hieedtor ot amn & Frifis sward |
(3) CO® CO, % wiafda w8 |

(4) 979 wgum & o e @ |

47. Which gas was leaked in Bhopal gas tragedy 7

(1) Carbon monoxide (2) Ethyl isocyanate
(3) Methyl isocyanate (4) 8O, and NO,
(15)

(Turn Chver)
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witra goen 4 fem fr w fama gan o 7
(1) S At (2) $9TER IR
(3) frargm syEERAR (4) 50,79 NO,
48. The life span of a human RBC is
(1) One day (2) One week
(1) Ome month (4) Four months

oF A E R, R wirg #

(1) o (2) & W
(3) @ T (4) T TR

49, Who is known as father of ECG 7
(1) Einthoven ~ (2) Cuvier (3) Hedwig (4) Francis Galton
Aind FRmFwAamamd 7

(1) S04 (2) g (3) efam (4) spifirE e

is used for erummem of Diarrhoea’stands for .

g0, ORS, which
{1}DmlRe¢hﬂsiﬂ55ﬂ\uﬁm (2) Oral Reducing Solution
(3) Dtalﬂﬂplmishing Solution (4) Oral Rehydration Salt
(Continued)

(16)
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ORS w1 e 3 yers % frg syt oy wrm B 9w 8

()sim i s - (2) st s wegE
(3) ¥ R wegee (4) o fergdan we
~ 51.A person whose blood group is AB can donate blood to-a person with blood
group :
(1) A (2) B (3) AB [4}.Mlufﬂm=

ﬁ%ﬁaﬂmmn@ﬁmﬁmﬁﬁﬁmmﬁmt:

my @4 () (@) i 2

51.Digestion of which component of the food is likely to be most adversely laﬁecmd
if the pH of the stomach is made 7 (neutral) 7

(1) Starch (2) ‘Protein (3) Lipid

(4) Sucrose
R S 1 pH 7 (Rge) T wg A iom ¥ e ves 5
S 9 & IR 23 Y A ¢ e
(1) & (2) e (3) fuifre (4) T
53.1n an adult human being, the number of vertehrae i -

& T = 1, T R g §
(1) 33 2) 26 (3) 36 s

(17)

[rmﬂ D‘i'er}
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54, The centre for DNA fingerprinting and diagnosis (CDFD) is located at :
(1) Hyderabad  (2) Mew Delhi (3) Calcutta (4) Mumbai
DNA fimfsfen =i Frgr 3 for 3 (0 9.0m. ) el fedm 2
(1) mRegEe. (2) HEEE (3) b (4) 77

55 | hie number of spinal nerves in i is ;

(1) 11 pairs (2) 25 pairs (3) 31 pairs (4) 37 pairs
e g 0 i
(1) 11908 (2) 257 (3) 3191 (4) 37 7
56.Cloves are obtained from .
(1)Leaf (2) Root (3) Fruit (4) Dried flower bud
it =t © T EoGR I
1y (2) ™% (3) (4) H8 B &
&7, Penicillin1$ ahtained from ;
(1) ﬂspﬁgﬂmﬁ fumigets? (2 Peaicillium chrysogenum
(3 Penicillium griseafulrum (4) Streptomyses Brisews

Bty i prinued)
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iffaferm wm B R - |
(1) srearfrer Rz (2) 3Ffiferm wrgtam
(3) Wffeferm amefvaiigerom {4}e=a=nm%m
H.T&nmm}r is abranch of science which deals with:
(1) classification of all living organisms
(2) classification of plants
(3) identification, nomenclature and classification of all living organisms
(4) structures and functions of living organims
ettt fiem o o e & o fo 3 @ Rl e @ 7
(1) avft fifam <igi & afiwm |
(2) G & arffemre &
(3) wEEH, A s e i A % affmm e
(4) <fifam Fii % a7 o wl @
59. Typhoid is caused by :
(1) Gairdia (2) Salmonella  (3) Shigella
ZyrE FEE
(1) e (2) Wi (3) R

4) Escherichj,

(19)
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60. Hormones are useful for :

(1) metabolic functions (2) digestion and reproduction
(3) producing energy (4) preventing disease
gt e forg et B -
(1) ST (2) o= I8 ECE]
(3) Fernt wd (4) Shofl i T
€1.Which of the following is most important for the growth of children p (0 the
~ age of 147
| (1) Protemn | (2) Vitamin (3) Fat (4) Milk

i 14 79 1 o o it 35 faere o e e 2

(1) 9 (2) b (3) =40 (4) 38

62, Chicken pox is caused by :

(1) Varicella virus (2) Adeno virus )
(3) Bacteriophage 12 (4) S.V. 40 virus

g T 1 £

(1) A (2) wRA A

(3) ek A2 (4) @4, 40 I
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63.The red colour of Red Sea is caused by ;

(1) Flesh (2) Moss () Fungim (4) Virus

mmwmhﬁmﬁmﬁtﬁ%mﬁm%? i

(1) 74 (2) Hawm (3) F= H)M
64.Whatis Mushroom 7

(1) Fogs  (2) Plant () Animal (4 Bacteria

mmt ; ' :

OF I L O S

65. Which of the following local taxeés gonstitute the sources of Tévenue for
municipal bodies 7

(1) Property tax  (2) Octroi - (3) Animal@x  (4) Weqth 1ax

Select the correct answer from the following :

(11,2, 3 are correct (2) 2, 3, 4 tre correct
(31,3, 4'@ correct (4) All are correct
ﬁnﬁﬁamﬁ:w&ﬁﬁrmm&muﬁﬁﬂmmt :
(1) wofes 3 (s &) (2) §ift (sregme)
(3) 7 (e ?‘ﬂl} (4) & R (370 3a)

(21)

(Turn Over)
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Tettign # & g I W W o
(1)1,2, 338 (2)2,3,4 3% 2
(3)1,3,4d= 2 (4) ot Ei
66. Which one of the following is the largest Committee of the Parliament ?
(1} The Commuttee on Public Accounts
{2) The Committee on Fstimates
(1) The Committee on Public Undertakings
(4) The Committee on Petitions
e &) waQ a8 i @

(2) FHE AR

(4) = =t YR

67, Who was (he first Governor General and Viceroy of India 7

) LosdHastings () LopdCaming - (3) LardRse2 (4) Lord Curzon

it A A T 7

(2) & Hm (3) = Fedl () =

e &
(1) i

(22) (Cﬂnﬁnwd)
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68.British Governor General who introduced first Postal System in India was :
(1) Lord Dalhousie (2) Lord Wellesley (3) LordAcland  (4) Lord Bentick
I ¥ WY S sae IF FEaren fifw v s e
(1) s sedslt () vt Q) edamede (4) ol A
69. Arrange the following Sikh Gurus in the correct chronological order :
(1) Nanakdeb, Ramdas, Amardas, Angadeb
(2) Tegbahadur, Ramdas, Atjundeb, Gobind Singh
(3) Gura Nanak, Angadeb, Arjundeb, Amardas
(4) Amardas, Ramdas, Arjundeb, Teghahadur
Frfeafim & & foe Toatt 1w w1 T -
(1) FREA, TIRETA, SR, e
(2) Ay, TR, SRfa, e fig
(3) 1% 7, SeA, A, A
(4) STEe, TR, sy, Sy

70. Who among the following were the members of the Drafting Commigee of 4
L= ) =

Consiiution ?
(1) K. M. Munshi (2) Jawahar [a] Nehny
(3} Alladi Knshnaswami (4) Sardar Pagef

(23)

(Toirn € hpory
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Choose correct option :

(171,3and4 (2) 1and 4

(3)1,3 (4) 2, 3and 4
mﬁﬂmmﬁﬁmwﬂHMﬁmﬂﬁﬁ%mﬂﬁ:

()& w, 39 (2) A T
(3) 3 ol (4) TR
Fﬁﬁﬂﬂ:}l
(11,334 (2) 144
| (3y1a3 (4) 2,394

71, During which one of the following situations does the Vice-President of India
discharges the functions of the President ?

(1) When the President falls ill

(2) When the President vacates office

(3) When the President dies

(4) When the President has been suspended

Ehuﬂ&athcmnﬁﬂnpﬂun:
‘]] 7,4 [I}ljrq
(1

[4}1,3,4
(1,23

{Continued)
(24)
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e F Ioeafe B & o e oftfeafas & vl & ot w1 g wm # 7
(1) s g dinm e &
(2) 3= Tgsfa o o2 e g e 2
(3) 98 TEYi ol ey B o 2
(4) == Tl 1 Frems # o
e fae 1
(1)1,2,4 (2)2.3,4
M1,2,3 (4)1,3,4
72, Which one of the following dances invelves solo performance 7 o
(1) Bharatatyam (2) Kuchipudi (3) Kathak (4) Odissi
Feierfias @ &Y m v g @ 7
(1) smereEs  (2) g (3) 4% (&) T3

73.The oldest form of composition of the Hindustani vocal music is -

(1)Ghazal (2) Dhrupad (3) Thumsi 4) None of these

L ilice iR RS K R ——

(1) (2) yw (3) gudt {ﬂﬁﬂqﬁgqﬁ
(25)

([ Turn (ke r)
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£

74.Who amongst the following is called the Liberator of the Indian Press 7
(1) Macaulay  (2) Metcalfe (3) Rippon (4) Irwin

lil:ll%Fi%ﬂﬁﬁﬁ:ﬁmﬁﬁ“hﬂWﬁ]mi:

(1) bt (2) e (3) fre (4) wefi
75.Who was the Viceroy of India when the Indian National Congress was formed ?
(1} Lord Ripon (2) Lord Northbrooke
(4) Lord Lansdowne

(1) Lord Dufferin

mﬂﬂﬂmﬁﬂﬁmﬂimﬂmwwﬁhm 7

(1) @re frod (2 ek
(3) 1é SHE (4) e e
76, Lord Ripon was associated with
(1) removal of Vernacular Press Acl

resolution for nstitution of local-self government

(2)

) cpactment of the First Factory Act

(3
(4) all of the 200V

{f"(m.rim.-:':ij

(26)
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o from e wafi 9 7
(1) FATHER 39 W F 3 &
- (2) vrtE e ) e  gee & fow
(3) s el wwe T T
(4) Fuiiew o)

77.What is the correct chronological sequence for the fﬂ”ﬂwmg Mughal
Emperors ?

(i) Akbar-i (1) Alamgir-I[

(ii7) Bahadur Shah-I1 ({v} ShahAlam-II

(1) id £ #v, i (2) i, &, i, iv

(3) i, dv, i, iit (4) fv, iii, i, i

Freafifim e wt 3 fo ot e fis @ a2

(i) sl (#) St

(igi) =mergy Tme-11 (iv) & Hem-]]

(1) i, &, iv, i (2) i, di, 4, iv

(3) i, v, f, 1 (4) iy, iit, T
(27)

NTurn 'DUEr}
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78. Which of the following are a Dircetive Principle of State Policy ?
(1) Equal pay for equal work for men and women
(2) Equal right to an adequate means of livelihood
(1) Abolition of untouchability "

(4} Tust and human condition of work

Chaose the correct option |
(512,54 (2) 1,2,4

(M1LL3 (4) Only 3

ﬁmﬂﬂaﬁﬂmnﬂﬂhﬁiﬂmﬁhm {:@ﬁiﬁﬁﬁmmqﬁﬁ}% 7

mgmhﬂnﬁmaﬂﬁamHnﬁm%iﬁmﬂﬁm
mm—ﬁﬁaﬂsqﬂnmmﬁﬁaﬁqmwaﬁm

mam{miﬂilﬂ?ﬁ*

(@ # v | AEr

i Fr B

(1)) 2.3.4 @14
31 . (4) Fa73

(28) (Contined)
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79.In terms of the election laws in India, electioneering ceases in a constituency
at least

(1) 12 hours before the commencement of polling

{2) 24 hours before the commencement of polling
(3) 36 hours before the commencement of the polling
{4} 48 hours before the closing hour of polling

W ot S s sreein i Pt 3 e s e @ o frrd o g w1
Bl R 7

(1) wAer & WTH &M W 1252 @

(2) mAzR % e ER A 24 52

(3) waEe % wre B A 36 g2

) TR F TR F e R 4R
80. Who established Nalanda University 7

(1) Skandagupta  (2) Kumargupta ~ (3) Chandragupta-I] (4) Samudragupta
g Frpafiremem 61wy fey B 7

(1) #==<TH (2) FFmom (3) TEIR-]

(29)
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&1.From where'Great Bath' of the Indus culre discovered ?
(1} Rangpur (2y Mohenjodaro  (3) Harappa (4) Dholavira
Wﬂéﬁ?ﬁﬂ‘ﬂﬁﬂﬂ’aﬁﬁmwm 7
(1) T (2) HiewsirgEl (3) T (4) e

82. Which art was patronaged by Kanishka ?

(1) Mathura Al (2) Mauryan Art

{3) Gandhara Art {4) Mathura and Gandhara Art
e 4 R e & S

(1) w0 T (1) M we

() e = 4 ngﬂrqa" MR

g3, Which is the earliest known civilization of India ?
iy
(1) Ganga valley civilization (2} Indus vailey civilization
(3} Brahmaputra valley civilization ~ (4) Mahanadi valley civilization
7
o &) 78 d W FAHE R i

(1)
(3) g W T (o e

{Continued)
(30}
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84.1n which year Ajanta caves was discovered 7
sram w6 w e ol F ol oft 7
(1) 1819 (2) 1824 (3) 1821 (4) 1817

85. Which was the main seaport of Cholas

(1) Kaveripattanam (2) Muzaris

(3) Korkai (4) Silapatigaram
s 1 v T = @ 7 .
() wdfowm (2) gonfee

(3) #eed (4) Reremaferrn

86. Which of the following academies is responsible for fostering the development
of dance, drama and music in India 7 -

(1) National School of drama . (2) Sangeet Academy
(3) Sahitya Academy (4) Lalit Kala Academy

!ﬁﬁ%ﬁ!ﬂ'ﬁﬁﬁﬂﬂ,ﬁﬁl mﬁw.maﬁtﬁﬁﬂﬁmﬁrﬂﬂﬂﬁﬂmmﬂm
: .

(1) 399=1 ¥ 7% g (2) =it wemrady
(3) mfeea vt (4) wfw wen qera
(31)

{Torn ver)
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87. Which folk dance is associated from Gujrat ?
(1} Nautanki (2) Kathakali (3) Garba ~ (4) Bhangra
o S A A R
(1) Ah (2) wEw (3) (4) WS

88. The most famous court poet of Akbar was ?

(1) Raskhan (2) Surdas
{3} Amir Khusaro (4) Abdul Rahim Khan Khana
s ¥z W EA Ui i R 9
(1) TaE (2) g™
(3) anf g&l (4) 7R T W WA
59, Which king adopted epithet of Vikramaditya *

(1) Chandragupia ! (2) Chandraguptall (3) Samudragupta () Rumargupta

o i 3 e 1 S TR AL
(1) =7E] (2) Fsm il (3) #FH (4) vy

{32) Ll'.’".-mrurm-dﬁ
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9. Todar Mal was associated with -

(1) Law (2) Music

(3) Literature (4} Land revenue reforms
e R

(1)* 8 (2) wfia &

(3) ®ifea & (4) v T gom A

91.Mohan consistently run 515 metres every day. In how many days will he run
8.24 kms, ?

At fafds 515 dex dhem @ 1 R fim i aw 824 o A
(1) 14 (2) 16 (3) 18 (4) 24

92. What is the script of the Indus Civilization 7

(1) Phonetic ~ (2) Alphabetical  (3) Indicative
Ry wmar ot forfs s @ 7

(4) Pictograph

93."Swaraj is my birth right and I shall have it.' This was advocated by

(3) Mahatma Gandhi (4) Lotmanya Tijgy
(33)

(Tarn Over)
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‘T o Fafirg i 2 ol g e g | g w6

(1) FER Tm T (2) AN radd T g

(3) 5eren i g (4) s forer g
94. Tipu Sultan was the ruler of :

(1) Maduru (2) Vijayanagar (1) Mysore (4) Hyderahad

#ig Hrae FE w1 AEE 91

(v gt (2} TEwmam #= (3) Aez 1 () #5TER B
95_ Article 17 of the Constitution .

(1) Protects individual frecdom

(2) Grants right to equality -

{31 Grants right to constitutional remedies

(4) Abolishes urtouchability
i ) agEa 17

(1) e i ) w2
(2 affvra w3

m:ﬁmﬁmﬁmﬂmmmi

14]-ﬂ@ﬂﬂwma

{34) (Contined |
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96, A session of the Lok Sabha is prorogued by

{ 1) A resolution of the house

{2) An order of the President

(3) An order of the Speaker

{4) The minister of Parliamentary affairs
wE W w wafe fem s g

(1} Fea % Hwes g

(2) gt < ew g

(3) 78 & eW g

(4) Fedra & Wl g

97.How many members can be nominated to the Rajya Sabha b
- }I Lhe i 7
mmmmﬁﬁmh&mﬁﬁaﬁcrgmmﬂuh i

(1) 12 {2) 10 (3) 8

{46
98. NNP is equal to :
(1) GNP+ Exports (2) GNP — Exports
(3) GNP + Depreciatius, (4) GINE — ”"'F”-'Ei'ﬁtiuq
(35)



16U/113/24

W T O S B R
(1)t w ot + Frafg (2) 3w ) — P
(3)dfl & & + g (4) o @ d —

99. NAFED is connected with

(1) Environment protection measures (2) Rural housing

(3) Apricultural marketing (4) Farmers credit cooperative

A FATT

(1) e W 9 4 (2) i AT 8

(3y 5T Foraom @ (4) T T FEI

{00.The Hindustan Shipyard Limited is located at:

(1) Goa (2) Mumbai (3) Visakhapatnam (4} Cochin
ferge fyerd, bt fEm & 7
(1) e (2) geod W (@) g # (4 #

he fixed price on Gross Domestic Products [GDP} in India, the

. o }u;ﬂ'[' in the w%tnt 15
e e T o e B, 3G (GDP) ¥ e & e a3 s ad
it :
999-2000 (23 2000-2001  (3) 2002-2003 (4) 2006-2007
() 2

(36 (Comtimped)
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102. By which amendment of constitution constitution of a separate National
Commission for scheduled tribes was provided for :
dfaur % form wxivem g0 srgfn st 3 R v 9o ot o & e W
gy o § 7

(1) 8441 (84 th) (2) 854l (85th)  (3) 894l (89 th) (4) 9247 (92 nd)
103. Which of the following is not a union territory 7

(1} Pondicherry (2) Mizoram

(3) Daman and Diu (4) Dadra and Nugar Havel;
frefiafiom # & S-w du wite wn A & 7

(1)wiE=l (2) fieim

(3) a7 fiy (4) T = PR gdah

104. In India Swabhiman Yojna' is related to :

(1) Therights of willage women (2} Taking care of the old people of villages

(3) The banking of villages (4) The food preservation of villages
Wi & g 6w wnfiem S e a7
(1) o wlgen sfwrt & (2) witn gga 2w 3
(3) ol & | (4) mviier W wEn
105, E’hwi:lhaﬂhe fol Imw:ng nstitution deals with granting loans for Agricy lture ang
(1) IDBl (2) NABARD
(3) SIDBY (4) 1CICI
(37)

(Tarn Over
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Wﬁam-mmgﬁ@mmamwﬁmmm
7

(1) 318 &4 318, (2) Amend
(3) wa, 3 2t 3k, (4) @k 2 md i ovd,

106 In which the falleaving State. the per capita income is highest ?
(1) Goa (2) Punjab (3) Maharastra {4) Gujrat
ﬁﬂﬁﬂﬁﬂuﬂﬁﬂﬁmﬁﬁmnﬁﬂﬁﬁi 7
(1) 7 (2) T (3) wETY (4) 1R

107,10 2 code FORM is writlen ERQP. In the same code how CLEAN will be
written ?

(1) BODDM (2) BOFDO (3) GKHBQ (4) GMKBO

qa:aﬂgﬁFﬂRMﬁﬁ‘ ERQPmmmtmﬁt#mﬁ CLEAN = %8 foa
o 7

(yBODDM (0RO () GKHEQ (4) GMIKBOQ

08 1~ medns < % means +, + means =, + MEANs—. then what will be the value of
4-10xd+16+87
'ﬂﬁ — :ﬂ'ﬁi oy ¥

ﬁ@'ﬂﬂﬂ’" f

EH:&-TEE.%+,+?H mﬁﬁ. i ,i‘ﬂaﬂfﬂ —,ﬁ"' M-1xd=16+8

(1) 134 (2) 142 (3) 168 (4) 130

(38) (Continued)
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109.1f TEN is coded 256 and SIXTY 19827, then in the same language how
SIXTEEN would be coded 7
7 TEN &1 256 3 7m SIXTY % 19827 & d¥aeg fow s & o v &
SIXTEEN %1 %8 wraag %01 7

(1) 1982556  (2) 1965255 (3) 1963225 (4) 1963556

110, Choose the correct alternative :
Moon : Satellite :: Earth - 2

(1) Solar System (2) Asteroid (3) Sun (4) Planet

781 e 9f -

TgHl : IqUE  gEet ;7

(DaErwEa  (2) o (3) g (4) T
111. Choose the correct number to replace question mark :

L Sl B e

gl e B

(1) 51 (2) 29 C(a 4) 18

l]I.Amansaidtunlui}r.'?mumntharshu;hn&.:__hmymri_{ﬂw&m lad
' e lady

related 1o the man 7
(1) Mother (7) Desghter
(3) Sister (4) Grand daughter

(3)

(Turn Oy
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T Al 3 U wiEe H W, ‘3rq &1 a1 % of ) aw ah gan & 1 5w leen w0
30 Fredt | dm A # 7

(1) (2) T
{3) = (4) d:f
113, ¥ and ¥ are brothers. M and N are sisters. X's son is W's brother. How is I
related to MY
(1) Father | (2) Brother
3] Lirand fathey {4) Uncle

Y rmiiwaﬁwirﬁ?nxmamwmmﬁlmuﬁmﬁiﬂ%?

(1) f=n (2) v

(3) el (4) s

Directions (Questions 114-115)

14. In each of the following questions, find the number of traingles in the given
114. in
Eﬁﬁﬁﬁ'ﬂm qﬁﬁﬁnﬁmﬁﬁqmﬁaﬁﬁmﬁwﬁ,
4 2)5 (3)6 (4)7
(1) .
(Cominued)

(40)
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115.

(1) 11 2)13 (3) 15 (4317

116, If '<" means 'minus’, >' means 'plus’, =" means 'multiplied by' and ' means
'divided by', then what would be the value of 27 >8159 <67
a3 < HO Y, ' WO O SR, = HCTd T Y] 'S RaeE R s w5
3 i 27> 81 $ 9 < 6w 7w W

(1)33 {2) 36 (3) 54 (4) None of these

117. Mouse is related to Cat, in the same way Fly is related to
(1) Spider (2) Rat (3) Horse (4) Animal
e wafia & fagh 4, vt v vl wfA g —— 3
(1) v ) m (3) g (4)

118. If'+' stands for 'division', ' »" stands for 'multiplication’, ' Stands f;
‘ . ; ar .
vion' and'' stands for 'addition’, which one of the fo b

ltowing is
R Rt ot , e e g

B vy i e T 8,
M1 +6xT7+5-_2=72 {E}lhﬁ+?+5_h[ﬁ '
(3)1B+6-T+5.2=20 4)18+65 7, 5-2=1g

(41)

(Turn Over)
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119, Rajan is sixth from the left end and Vinay is tenth from the right end in a row of
boys. If there are eight bays between Rajan and Vinay, how many boys are there

in the row 7
mﬂﬁh%ﬁmtaﬁwaﬁﬁﬁﬁﬁﬁﬁwﬁﬁﬁhﬁmﬁwnﬂil
m#ﬂhm%ﬂﬁﬁuﬁmﬂqﬁﬁ,ﬁﬁﬁﬁﬁﬁm%aﬁﬁ?

(1)23 (2) 24 (3) 25 (4) 26

120. X says, 'O is my son.' O says, T am not the son of X.' How O is related to X 7

(1) Grandson (2) Nephew

(3) Daughter (4) None of the above

i zad, ‘0dugd ) oFEm d, A Xl O xaFmuaud 7

(1yd (2) weften

Ejlel (4w ¥ & % T
SECTION-TI

Language — English

Mote : Four alternatives are given s possible answers [0 each question. Give the

Direction (Q. No. 11 1-124) : Scleet the word nearest in meaning to the given

121, August
(1) Common (2) Ridiculous ~ (3) Dignified (4) Petty
(42) (Continued)
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122, Incessant
(1) Instant {2) Continuous (3 Running (4) Flying

123, Momentous

(1) Important (2) Lasting for a short time
(3} Wrong (4) Hopeless
124, Fraility
(I)Boldness  (2) Weakness  (3) Beawty (4) Intelligence

Direction (Q. No. 125-128) : Choose the word which is most opposite in meaning
of the word given in bold ;

125. Pemnicious :

(1) Innocuous  (2) Healthy (3) Hygienic (4) Fine
116, Anonymous :
(1) Desperate  (2) Bxpect (3) Known (4) Written
127. Humane :
(1) Uncivilised (2) Uncultured
(3) Unsympathetic (4) Uncompeanyjsing
(43)
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128. Elegance |

t] .J hﬁ?ﬂwmm

(1) Clumsiness

(2) Indelicacy

{4) Savagery

Direction (0. No. 129-132) : Sclect the correct meaning of the given idiomatic

EXPrEssions
129. To show one's white feather :
(1) To show arrogance
(3) To seek peace
130, To rule the roast:
(1) To domineet
(3) Torunaway
131. To turn down :
(1) Reject (2) Giveup
132. To bury the hatchet |
(1) To clash

3 To resglve the 1SSUES

(2) To become polite

(4) Toshow signs of cowardice

(2) To surrender

(4) To fight

(3) Follow (4) Theow

(2} Todisqualify

(4) To destroy hefore it blooms

(44) {Ci?ﬁir'rfmtﬂ
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Direction (Q. No. 133-136) : Select the right word to fill in the blanks in the given
senlences .

133. The earth————around the sun.
()revolved  (2) isrevolving  (3) revolves (4) is revolved
134.1 the news an hour ago.
(1) have heard (2) was hearing
{3) have been hearing (4) heard
135. Savita decided to set — sometime wquuujf for prayers,
(1) aside (2} in (3) on (&) vp
136, 1t is dangerous 1o intrude the enemy’s camp.
(1) in (2) into (3) on (4) through

Direction (Q. No. 137-140) : Choose the correct preposition for each blan .

137, We will have to adjust ourselves ——— new circumstances,
(1) over (2) to (3) with ) on

138. Professor Kumar will také ——— as the new principal tomorry,

(1) over (2) vp i
(3} with (4) roung

(45)
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139. He accused me —— not telling the truth.

(1) for (2) over (3) of (4) on
140, Call us during office hours 7334593,

(1)at (2) on (3) upon (4) in

Direction {Q. No. 141-142) - Select the correct alternative for each blank .

141. 1 am studying for ——— MAinHistory,

(1) an (2)a (3) the (4) no article

142, Have you seen —— A Fort?
(1)a (2} an (3) the (4) no article

Direction (Q- MNe- 143-144) : Select the part of spesch of the underlined word 1n

fhe given sentences .

143, |5 there A0Y wread in the house 7

(1) adjective (2) adverb (3) conjunction  {(4) determiner

144. Perhiaps jt will rain.

(1) adjective (2) adverd (3) conjunction  (4) determiner
Direction (Q No. 145-146) : Select the word which hias been wrongly spelt :
145.(1) Littoral (2) Explicit (3) Longivity (4) Plaintiff
146, (1) Tnandible () Compititive () Endemic (4) Nausea
(Continued)

{46)
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Direction (Q. No. 147-150) : Ideatify the part having an crror :

147. (1) The father as well as (2) The sons were
(3) mysteriously missing (4) from the house
148. (1) Indiais (2) one of the leading
(3) tea producing country (4) inthe world
149. (1) | have heard (2) stories that
(3) do not correspond (4) with this cxperience
150. (1) unless you do not (2) work hard
(3) youwill fail (4) in the examination
_ SECTION-II
wvE-I1
wrar-fedt
g T o 6 47wt g
151 Eﬁm%mﬁmﬁwm‘ﬁmm&m :
(1) et e gen (2) T af
(3) TERt HiwpraR (4) Entiae B3
(47)

(Turn Over)
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152, gt ! 1 AR g GEH0 TR e A e A d
(1) wré faform et (2) Tt et HEEd
(3 ) Amd) ST & (4) Fer wem
53, s feh ma ey “sn_srhE-mm’ $i e e e A
(1) fmer  (2) g (3) o (4) EUER, T
154, '3 gat Fra FA A TFNE T
(1) e (2) svfie gad () smermm () Rl
155 ‘g wivef" 1 THRR A R T

(1) e (2) T (3) A (4) BrreE

| g6, s A R AR P

(1) ¥ o (2) ZmivEt (3) HE S (4) FTH
157 e 1 9 Fom R A g 7

(1) F® (2) T (3) fufien (4) =
lsawﬁwﬁﬁ“ﬁmw“

e QR (@ (3) T

(Cont imeeel)
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